
 

lk¡ph nqX/k mRiknksa dk miHkksDrk ewY; 

 

Ø- mRikn dk uke ek=k miHkksDrk ewY; ¼:-½ 

1 ehBk ngh 100 xzke 15.00 

2 yLlh 200 fe-yh 30.00 

3 isM+k 250 xzke 105.00 
4 isM+k 500 xzke 200.00 
5 isM+k  1 fdyks 380.00 

6 eSi isM+k 250 xzke 115.00 

7 eSi isM+k 500 xzke 220.00 

8 eSi isM+k 1 fdyks 420.00 

9 eSi isM+k 1-5 fdyks 590.00 

10 lknk ngh 500 xzke 55.00 

11 lknk ngh 5 fdyks 350.00 

12 ngh iksyh iSd 500 xzke 40.00 

13 lk¡ph Nsuk jcMh 100 xzke 32.00 

14 lk¡ph Nsuk jcMh 500 xzke 150.00 
15 lk¡ph Nsuk jcMh 1 fdyks 300.00 
16 lk¡ph Nsuk jcMh 5 fdyks 1450.00 

17 iuhj 100 xzke 45.00 

18 iuhj 200 xzke 90.00 

19 iuhj 250 xzke 100.00 

20 iuhj 500 xzke 195.00 

21 iuhj 1 fdyks 380.00 
22 iuhj 5 fdyks 1700.00 

23 lk¡ph ekok 250 xzke 100.00 

24 lk¡ph ekok 500 xzke 200.00 

25 lk¡ph ekok 1 fdyks 400.00 

26 lk¡ph ekok 5 fdyks 1850.00 

27 feYd dsd 250 xzke 120.00 

28 feYd dsd  500 xzke 220.00 

29 feYd dsd  1 fdyks 420.00 

30 jlxqYyk 1 fdyks 210.00 
31 xqykc tkequ 500 xzke 120.00 
32 xqykc tkequ 1 fdyks 230.00 
33 lk¡ph Vscy cVj  100 xzke 55.00 
34 lk¡ph Vscy cVj 500 xzke 275.00 
35 lknk Vks.M ngh 80 xzke 13.00 
36 lknk fLdEM ngh 80 xzke 10.00 
37 ehBk fLdEM ngh 80 xzke 12.00 

 


